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How many workers are on assembly line? B: Thirty nine total. A:[J
DOo00O00o00o?B:00390 0 2.Barcode I OO I A: Bar code
IS so popular these days. B: | know. Walt-Mart wont be able to do
business withoutbarcode. A\ 00 OO 00O B:OOO,O0
Jodo0,0000000000000 3.Capital asset L1 [
O O 0O A:What is capital asset? B: Any item which depreciates over
time. A DDOO0O0OOB 00000000 0OOOOONO
0 O 0O 4.Cost reduction U [0 I A: We made a lot of efforts on the
cost reduction. B: Any realized savings? A:0 0 0 O 0 OO0 0O OO
JO00OBOU00OO0O0OO0OOO?5Innovationsd OO0 A:ls
there any way to encourage innovations on the shop floor? B: Yes.
We have incentive plans for innovations. A:\J 0 000 0O OO O
Joooooo?B0,000doodoooooooon
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